Econ 431

Professor Leffler

Fall 2002

Exam 1


Answer BOTH questions.  Organize your thoughts before giving your answer.  Concise answers are rewarded, though you must “explain” your answers (or show your work steps).  Extraneous, irrelevant and redundant answers are penalized.  Use an exam booklet.  No calculators, notes or cheating!! 
I will post an answer guide on the website by around 6 pm.   

1.  Jones Steel has a number of North American steel plants.  Jones sells one half of the steel sold in North America.  The remaining steel is sold by three other companies.  The industry used to be composed of a number of equal sized steel plants.  Jones was formed by merging all but the remaining three plants.  Brighton sells steel for $120 per ton.  The total sales of steel in North America are 80 mm tons.  An industry study has estimated that consumption of steel will change about 1 mm ton for each $1 change in price.  The same study also estimated that each plant has a linear supply curve with zero marginal cost at zero output.

A)  Do you believe Jones achieved "market power" by its mergers?  Explain what you mean by "market power" and analyze quantitatively using the Dominant Firm Model (either algebraically or graphically).

B)  How many plants would you estimate Jones has?  (Note that the answer is not 3.) 
C)  In this situation, is there any welfare loss from inefficiency in production, holding constant the market output?
2.  Explain each of the following:

A.  The “successive price searcher (or monopoly) problem”.  
      Also discuss the impact of successive price searchers on the welfare cost of monopoly. 

B.   The “appropriable of quasi rent problem.” 
       Also provide an example not discussed in class.
